BIDS EXTENDED AND CHECKED

BY: Noemi Avila
DATE: August 22, 2023

BID TABULATION

	2400 C			I		Г		1		Г	
LOCAT	3400 Sunrise Rd., Roun Rock, TX TON: 78665	Company	Name	Dall Camer		100	ervices	Patin Construction, LLC		Nelson Lewis, Inc.	
BID DA		Сошрану	Name:	Statement of	actors, Inc.	Statement of		Statement of	,	Statement of	
אלו עום	6/22/2023			Addendum(s)	•	Addendum(s	•	Addendum(s)	•	Addendum(s)	•
				` ′	Yes	Bid Bond?	Yes	Bid Bond?	Yes	()	Yes
				Dia Dona.	1 03	Dia Bona.	103	Dia Bona.	163	Dia Bona.	103
		APPROX				UNIT		UNIT		UNIT	
ITEM#		QTY.	UNIT	UNIT PRICE	COST	PRICE	COST	PRICE	COST	PRICE	COST
	TEMPORARY IRRIGATION SYSTEM										
1	(Including removal)	1	LS	\$52,585.00	\$52,585.00	\$53,208.00	\$53,208.00	\$50,000.00	\$50,000.00	\$12,000.00	\$12,000.00
	BARRICADES, SIGNS, AND TRAFFIC										
2	HANDLING	6	MO	\$2,270.50	\$13,623.00	\$1,690.00	\$10,140.00	\$10,000.00	\$60,000.00	\$1,000.00	\$6,000.00
3	SEEDING FOR EROSION CONTROL	8295	SY	\$4.34	\$36,000.30	\$4.50	\$37,327.50	\$2.00	\$16,590.00	\$0.50	\$4,147.50
4	TREE REMOVAL (4"-12" DIA)	8	EA	\$575.00	\$4,600.00	\$2,322.00	\$18,576.00	\$20,500.00	\$164,000.00	\$800.00	\$6,400.00
5	TREE PROTECTION	25	EA	\$633.65	\$15,841.25	\$4.50	\$112.50	\$500.00	\$12,500.00	\$550.00	\$13,750.00
6	ROCK BERM	76	LF	\$41.40	\$3,146.40	\$33.50	\$2,546.00	\$50.00	\$3,800.00	\$40.00	\$3,040.00
	STABILIZED CONSTRUCTION										
7	ENTRANCE	4	EA	\$4,600.00	\$18,400.00	\$4,851.00	\$19,404.00	\$2,000.00	\$8,000.00	\$1,500.00	\$6,000.00
	TEMPORARY FENCE, 6 FOOT HIGH,										
	CHAIN LINK (INCLUDES										
8	INSTALLATION AND REMOVAL)	366	LF	\$17.25	\$6,313.50	\$7.00	\$2,562.00	\$38.00	\$13,908.00	\$25.00	\$9,150.00
9	PROJECT SIGNS (TYPE 2)	2	EA	\$1,782.50	\$3,565.00	\$1,764.00	\$3,528.00	\$2,000.00	\$4,000.00	\$1,200.00	\$2,400.00
	BIODEG EROSN CONT LOGS (18"										
	DIA), INSTALLATION, MAINTENANCE										
10	AND REMOVAL	462	LF	\$8.05	\$3,719.10	\$28.00	\$12,936.00	\$20.00	\$9,240.00	\$10.00	\$4,620.00
	CONTRACTOR TO PREPARE, SUBMIT,										
	IMPLEMENT, AND UPDATE STORM										
	WATER POLLUTION PREVENTION										
11	PLAN (INCLUDING INSPECTIONS)	1	LS	\$19,731.25	\$19,731.25	\$4,116.00	\$4,116.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00

Utilities & Environmental Services 3400 Sunrise Road Round Rock, Texas 78665

BIDS EXTENDED AND CHECKED

BY: Noemi Avila
DATE: August 22, 2023

BID TABULATION

PROJE	ECT: Greenbelt Storm Sewer and Waterlin	ne Improv	ements								
	REMOVING EXIST. CONCRETE &										
12	ROCK RIPRAP	17	SY	\$57.50	\$977.50	\$100.00	\$1,700.00	\$1,000.00	\$17,000.00	\$200.00	\$3,400.00
	REMOVING CONC (CURB AND										
	GUTTER)	12	LF	\$28.75	\$345.00	\$134.00	\$1,608.00	\$100.00	\$1,200.00	\$200.00	\$2,400.00
14	EXCAVATION (CHANNEL)	834	CY	\$34.50	\$28,773.00	\$40.00	\$33,360.00	\$200.00	\$166,800.00	\$20.00	\$16,680.00
15	CONC CURB & GUTTER (TY 1)	12	LF	\$63.25	\$759.00	\$47.00	\$564.00	\$250.00	\$3,000.00	\$80.00	\$960.00
	RAIL (HANDRAIL)(TY F) (INCLUDES										
16	REMOVAL OF EXISTING)	116	LF	\$284.05	\$32,949.80	\$323.00	\$37,468.00	\$400.00	\$46,400.00	\$220.00	\$25,520.00
17	JCTBOX (COMPL)(PJB) (6FTX6FT)	2	EA	\$8,375.60	\$16,751.20	\$8,899.00	\$17,798.00	\$15,000.00	\$30,000.00	\$8,500.00	\$17,000.00
	INLET (COMPL)(PAZD)(FG) (6FTX6FT-										
18	4FTX4FT)	2	EA	\$15,563.32	\$31,126.64	\$9,999.00	\$19,998.00	\$15,000.00	\$30,000.00	\$11,000.00	\$22,000.00
	WINGWALL (PW-1) (HW=5FT)										
	(INCLUDING REMOVAL OF										
19	EXISTING)	1	EA	\$23,075.00	\$23,075.00	\$27,058.00	\$27,058.00	\$35,000.00	\$35,000.00	\$11,000.00	\$11,000.00
	TRENCH SAFETY SYSTEMS (ALL										
	DEPTHS)(INCLUDING PREPARATION										
	AND SUBMITTAL OF TRENCH										
20	SAFETY PLAN)	1425	LF	\$3.45	\$4,916.25	\$5.00	\$7,125.00	\$5.00	\$7,125.00	\$9.00	\$12,825.00
	RC PIPE (CL III)(48 IN) (ALL DEPTHS)										
	INCLUDING ROCK EXCAVATION,										
21	BEDDING AND BACKFILL	1406	LF	\$345.38	\$485,604.28	\$265.00	\$372,590.00	\$350.00	\$492,100.00	\$430.00	\$604,580.00
22	CONCRETE RIPRAP (6")	65	CY	\$753.25	\$48,961.25	\$102.00	\$6,630.00	\$750.00	\$48,750.00	\$900.00	\$58,500.00
	RIPRAP (STONE COMMON)										
22	(GROUT)(18 IN.) (INCLUDING	o =									
23	CHANNEL EXCAVATION)	85	CY	\$116.44	\$9,897.40	\$570.00	\$48,450.00	\$500.00	\$42,500.00	\$100.00	\$8,500.00
2.4	PORTLAND CEMENT CONCRETE	•									
24	RETARDS	3	EA	\$3,237.50	\$9,712.50	\$1,865.00	\$5,595.00	\$2,500.00	\$7,500.00	\$1,500.00	\$4,500.00
	TEMPORARY SAFETY FENCE, 6 FOOT,										
2.5	CHAIN LINK (INCLUDES		_				<u>.</u>			.	
25	INSTALLATION AND REMOVAL)	66	LF	\$25.80	\$1,702.80	\$7.00	\$462.00	\$38.00	\$2,508.00	\$25.00	\$1,650.00

BIDS EXTENDED AND CHECKED

BY: Noemi Avila

DATE: August 22, 2023

BID TABULATION

32 DI FITTINGS 3 TON \$15,143.90 \$45,431.70 \$9,408.00 \$28,224.00 \$20,000.00 \$60,000.00 \$60,000.00 \$18,000.00 \$33 WET CONNECTIONS 6"X6" 1 EA \$2,244.38 \$2,244.38 \$3,478.00 \$31,478.00 \$15,000.00 \$15,000.00 \$3,000.00	I KOJI	LC1: Greenbeit Storm Sewer and Waterli	ne improv	ements								
CINCLUDING RE-INSTALLATION OF CONCERTE SIDEWALK DRAIN CINCLUDES REMOVAL OF EXISTING		REMOVING AND RELOCATING										
EXISTING FENCE 66												
CONCRETE SIDEWALK DRAIN (INCLUDES REMOVAL OF EXISTING 2												
Continue	26	EXISTING FENCE)	66	LF	\$73.06	\$4,821.96	\$41.50	\$2,739.00	\$100.00	\$6,600.00	\$50.00	\$3,300.00
SIDEWALK 2												
REMOVING CONC (SIDEWALKS) 3 SY \$172.50 \$551.50 \$563.00 \$1,689.00 \$1,000.00 \$3,000.00 \$200.00 \$600.00 REMOVING CONC (CURB AND 2 LF \$57.50 \$690.00 \$141.00 \$1,692.00 \$2,400.00 \$2,400.00 \$2,000.00 \$2,000.00 \$2,000.00 REMOVING CONC (CURB AND 12 LF \$57.50 \$690.00 \$141.00 \$1,692.00 \$2,000.00 \$2,000.00 \$2,000.00 \$2,000.00 RENCASEMENT PIPE, 30" DIA, STEEL 30 LF \$558.25 \$16,747.50 \$350.00 \$10,500.00 \$500.00 \$15,000.00 \$420.00 \$12,600.00 TRENCH SAFETY SYSTEMS (ALL DEPTHS)(INCLUDING PREPARATION AND SUBMITTAL OF TRENCH 493 LF \$3.45 \$5,150.85 \$4.00 \$5,972.00 \$5.00 \$7,465.00 \$5.00 \$7,465.00 31 SAFETY PLAN 3 TON \$15,143.90 \$45,431.70 \$9,408.00 \$28,224.00 \$20,000.00 \$6,000.00 \$18,000.00 32 DI FITTINGS 3 TON \$15,143.90 \$45,431.70 \$9,408.00 \$28,224.00 \$20,000.00 \$6,000.00 \$18,000.00 33 WET CONNECTIONS 6"X6" 1 EA \$2,244.38 \$2,244.38 \$3,478.00 \$3,478.00 \$15,000.00 \$3,000.00		`										
REMOVING CONC (CURB AND 12		,			-	\$4,805.00	\$4,116.00	\$8,232.00	\$5,000.00	\$10,000.00	\$7,000.00	-
29 GUTTER 12	28	()	3	SY	\$172.50	\$517.50	\$563.00	\$1,689.00	\$1,000.00	\$3,000.00	\$200.00	\$600.00
Section Sect		`										
TRENCH SAFETY SYSTEMS (ALL DEPTHS)(INCLUDING PREPARATION AND SUBMITTAL OF TRENCH \$AFETY PLAN)		,						·				
DEPTHS)(INCLUDING PREPARATION AND SUBMITTAL OF TRENCH 1493 LF \$3.45 \$5,150.85 \$4.00 \$5,972.00 \$5.00 \$7,465.0	30	ENCASEMENT PIPE, 30" DIA, STEEL	30	LF	\$558.25	\$16,747.50	\$350.00	\$10,500.00	\$500.00	\$15,000.00	\$420.00	\$12,600.00
AND SUBMITTAL OF TRENCH 31 SAFETY PLAN) 1493 LF \$3.45 \$5,150.85 \$4.00 \$5,972.00 \$5.00 \$7,465.00 \$5.00 \$7,465.00 32 DI FITTINGS 3 TON \$15,143.90 \$45,431.70 \$9,408.00 \$28,224.00 \$20,000.00 \$60,000.00 \$60,000.00 \$18,000.00 33 WET CONNECTIONS 6"X6" 1 EA \$2,244.38 \$2,244.38 \$3,478.00 \$3,478.00 \$15,000.00 \$15,000.00 \$3,0		TRENCH SAFETY SYSTEMS (ALL										
SAFETY PLAN 1493		DEPTHS)(INCLUDING PREPARATION										
32 DI FITTINGS 3 TON \$15,143.90 \$45,431.70 \$9,408.00 \$28,224.00 \$20,000.00 \$60,000.00 \$60,000.00 \$18,000.00 \$33 WET CONNECTIONS 6"X6" 1 EA \$2,244.38 \$2,244.38 \$3,478.00 \$33,478.00 \$15,000.00 \$15,000.00 \$3,000.00		AND SUBMITTAL OF TRENCH										
33 WET CONNECTIONS 6"X6" 1 EA \$2,244.38 \$2,244.38 \$3,478.00 \$3,478.00 \$15,000.00 \$3,000.00 \$3,000.00 \$3,000.00 \$34,000.00 \$3,0	31	SAFETY PLAN)	1493	LF	\$3.45	\$5,150.85	\$4.00	\$5,972.00	\$5.00	\$7,465.00	\$5.00	\$7,465.00
34 WET CONNECTIONS 12"X12"		DI FITTINGS	3	TON	\$15,143.90	\$45,431.70	\$9,408.00	\$28,224.00	\$20,000.00	\$60,000.00	\$6,000.00	\$18,000.00
35 WET CONNECTIONS 16"X16" 1 EA \$3,923.17 \$9,354.00 \$9,354.00 \$30,000.00 \$50,000.00 \$5,000.00 \$30,000.00 \$5,000.00 \$30,000.00 \$30,000.00 \$30,000.00 \$5,000.00 \$30,00		WET CONNECTIONS 6"X6"	1	EA	\$2,244.38	\$2,244.38	\$3,478.00	\$3,478.00	\$15,000.00	\$15,000.00	\$3,000.00	\$3,000.00
36 REMOVE 6" WL (UNK) 37 LF \$23.00 \$1,633.00 \$30.00 \$2,130.00 \$50.00 \$3,550.00 \$1,420.00 \$37 REMOVE 12" WL (UNK) 38 REMOVE 16" WL (UNK) 40 G8 LF \$34.50 \$2,346.00 \$35.00 \$2,380.00 \$4,760.00 \$100.00 \$6,800.00 \$6,800.00 \$1,420.00 \$100.00 \$6,800.00 \$1,420.00 \$100.00 \$1,700.00 \$1,		WET CONNECTIONS 12"X12"	1	EA	\$2,957.68	\$2,957.68	\$6,740.00	\$6,740.00	\$25,000.00	\$25,000.00	\$4,000.00	\$4,000.00
37 REMOVE 12" WL (UNK) 72 LF \$28.75 \$2,070.00 \$32.00 \$2,304.00 \$60.00 \$4,320.00 \$80.00 \$5,760.00 \$38 REMOVE 16" WL (UNK) 68 LF \$34.50 \$2,346.00 \$35.00 \$2,380.00 \$70.00 \$4,760.00 \$100.00 \$6,800.00 \$6,800.00 \$6" DI WATER LINE, BY OPEN CUT (ALL DEPTHS) (INCLUDING ROCK EXCAVATION, BEDDING AND BACKFILL) 39 BACKFILL) 17 LF \$120.30 \$2,045.10 \$75.00 \$1,275.00 \$150.00 \$2,550.00 \$100.00 \$1,700.00 \$1,700.00 \$100.00 \$1,700.00 \$1,700.00 \$100.00 \$1,700		WET CONNECTIONS 16"X16"	1	EA	\$3,923.17	\$3,923.17	\$9,354.00	\$9,354.00	\$30,000.00	\$30,000.00	\$5,000.00	\$5,000.00
38 REMOVE 16" WL (UNK) 68 LF \$34.50 \$2,346.00 \$35.00 \$2,380.00 \$70.00 \$4,760.00 \$100.00 \$6,800.00 6" DI WATER LINE, BY OPEN CUT (ALL DEPTHS) (INCLUDING ROCK EXCAVATION, BEDDING AND 39 BACKFILL) 17 LF \$120.30 \$2,045.10 \$75.00 \$1,275.00 \$150.00 \$2,550.00 \$100.00 \$1,700.00 12" WATER LINE, AWWA C900 DR 18, BY OPEN CUT (ALL DEPTHS) (INCLUDING ROCK EXCAVATION,		REMOVE 6" WL (UNK)	71	LF	\$23.00	\$1,633.00	\$30.00	\$2,130.00	\$50.00	\$3,550.00	\$20.00	\$1,420.00
6" DI WATER LINE, BY OPEN CUT (ALL DEPTHS) (INCLUDING ROCK EXCAVATION, BEDDING AND BACKFILL) 17 LF \$120.30 \$2,045.10 \$75.00 \$1,275.00 \$150.00 \$2,550.00 \$100.00 \$1,700.00 12" WATER LINE, AWWA C900 DR 18, BY OPEN CUT (ALL DEPTHS) (INCLUDING ROCK EXCAVATION,		REMOVE 12" WL (UNK)	72	LF	\$28.75	\$2,070.00	\$32.00	\$2,304.00	\$60.00	\$4,320.00	\$80.00	\$5,760.00
(ALL DEPTHS) (INCLUDING ROCK EXCAVATION, BEDDING AND 39 BACKFILL) 17 LF \$120.30 \$2,045.10 \$75.00 \$1,275.00 \$150.00 \$2,550.00 \$100.00 \$1,700.00 \$12" WATER LINE, AWWA C900 DR 18, BY OPEN CUT (ALL DEPTHS) (INCLUDING ROCK EXCAVATION,	38	REMOVE 16" WL (UNK)	68	LF	\$34.50	\$2,346.00	\$35.00	\$2,380.00	\$70.00	\$4,760.00	\$100.00	\$6,800.00
EXCAVATION, BEDDING AND BACKFILL) 17 LF \$120.30 \$2,045.10 \$75.00 \$1,275.00 \$150.00 \$2,550.00 \$100.00 \$1,700.00 12" WATER LINE, AWWA C900 DR 18, BY OPEN CUT (ALL DEPTHS) (INCLUDING ROCK EXCAVATION,		6" DI WATER LINE, BY OPEN CUT										
39 BACKFILL) 17 LF \$120.30 \$2,045.10 \$75.00 \$1,275.00 \$150.00 \$2,550.00 \$100.00 \$1,700.00 12" WATER LINE, AWWA C900 DR 18, BY OPEN CUT (ALL DEPTHS) (INCLUDING ROCK EXCAVATION,		(ALL DEPTHS) (INCLUDING ROCK										
12" WATER LINE, AWWA C900 DR 18, BY OPEN CUT (ALL DEPTHS) (INCLUDING ROCK EXCAVATION,		EXCAVATION, BEDDING AND										
BY OPEN CUT (ALL DEPTHS) (INCLUDING ROCK EXCAVATION,	39	BACKFILL)	17	LF	\$120.30	\$2,045.10	\$75.00	\$1,275.00	\$150.00	\$2,550.00	\$100.00	\$1,700.00
(INCLUDING ROCK EXCAVATION,		12" WATER LINE, AWWA C900 DR 18,										
40 BEDDING AND BACKFILL) 11 LF \$201.66 \$2,218.26 \$85.00 \$935.00 \$200.00 \$2,200.00 \$2,200.00		(INCLUDING ROCK EXCAVATION,										
	40	BEDDING AND BACKFILL)	11	LF	\$201.66	\$2,218.26	\$85.00	\$935.00	\$200.00	\$2,200.00	\$200.00	\$2,200.00

Utilities & Environmental Services 3400 Sunrise Road

Round Rock, Texas 78665

BIDS EXTENDED AND CHECKED

BY: Noemi Avila
DATE: August 22, 2023

BID TABULATION

PROJECT: Greenbelt Storm Sewer and Waterline Improvements

PROJE	ECT: Greenbelt Storm Sewer and Waterli	ne Improv	ements	ī					1	ī	
	16" DI WATER LINE, BY OPEN CUT										
	(ALL DEPTHS) (INCLUDING ROCK										
	EXCAVATION, BEDDING AND										
41	BACKFILL)	177	LF	\$225.15	\$39,851.55	\$169.00	\$29,913.00	\$250.00	\$44,250.00	\$350.00	\$61,950.00
	16" WATER LINE, AWWA C900 DR 18,										
	BY OPEN CUT (ALL DEPTHS)										
	(INCLUDING ROCK EXCAVATION,										
42	BEDDING AND BACKFILL)	1349	LF	\$149.26	\$201,351.74	\$140.00	\$188,860.00	\$150.00	\$202,350.00	\$150.00	\$202,350.00
	AUTOMATIC COMBINATION										
	AIR/VACUUM RELEASE VALVE										
43	ASSEMBLY 2" DIA	1	EA	\$6,209.97	\$6,209.97	\$10,982.00	\$10,982.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00
	6-IN RS GATE VALVE AND										
44	INSTALLATION	1	EA	\$2,020.60	\$2,020.60	\$2,659.00	\$2,659.00	\$10,000.00	\$10,000.00	\$2,000.00	\$2,000.00
	16-IN RS GATE VALVE AND										
45	INSTALLATION	2	EA	\$12,842.50	\$25,685.00	\$12,174.00	\$24,348.00	\$20,000.00	\$40,000.00	\$14,000.00	\$28,000.00
46	FIRE HYDRANTS	1	EA	\$7,714.96	\$7,714.96	\$5,157.00	\$5,157.00	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00
	REFLECTORIZED PAVEMENT										
47	MARKERS (TYPE II-B-B)	1	EA	\$371.60	\$371.60	\$294.00	\$294.00	\$1,500.00	\$1,500.00	\$70.00	\$70.00
48	CONC CURB & GUTTER (TY 1)	12	LF	\$80.50	\$966.00	\$42.00	\$504.00	\$250.00	\$3,000.00	\$80.00	\$960.00
49	CONC SIDEWALKS (4")	3	SY	\$1,035.00	\$3,105.00	\$529.00	\$1,587.00	\$1,000.00	\$3,000.00	\$400.00	\$1,200.00
50	FLOWABLE BACKFILL	50	CY	\$236.22	\$11,811.00	\$145.00	\$7,250.00	\$500.00	\$25,000.00	\$200.00	\$10,000.00
51	MOBILIZATION	1	LS	\$60,731.74	\$60,731.74	\$44,100.00	\$44,100.00	\$10,000.00	\$10,000.00	\$50,000.00	\$50,000.00
	TOTAL				\$1,330,497.68		\$1,148,160.00		\$1,832,866.00		\$1,334,797.50
48 49 50	MARKERS (TYPE II-B-B) CONC CURB & GUTTER (TY 1) CONC SIDEWALKS (4") FLOWABLE BACKFILL MOBILIZATION	3	LF SY CY	\$80.50 \$1,035.00 \$236.22 \$60,731.74	\$966.00 \$3,105.00 \$11,811.00 \$60,731.74	\$42.00 \$529.00 \$145.00 \$44,100.00	\$504.00 \$1,587.00 \$7,250.00 \$44,100.00	\$250.00 \$1,000.00 \$500.00 \$10,000.00	\$3,000.00 \$3,000.00 \$25,000.00 \$10,000.00	\$80.00 \$400.00 \$200.00 \$50,000.00	\$ \$

	3400 Sunrise Rd., Roun Rock, TX		Cedar Hills Construction,			Austin Engineering Co.,
LOCATION:	78665	Company Name:	LLC	Austin Underground, Inc.	Atlas Construction, Corp.	Inc.
BID DATE:	8/22/2023		Statement of Safety? Yes	Statement of Safety? Yes	Statement of Safety? Yes	Statement of Safety? Yes
			Addendum(s)?	Addendum(s)?	Addendum(s)?	Addendum(s)?

Utilities & Environmental Services 3400 Sunrise Road Round Rock, Texas 78665

BIDS EXTENDED AND CHECKED

BY: Noemi Avila
DATE: August 22, 2023

BID TABULATION

INOUL	C1: Greenbeit Storm Sewer and Watern	ne improv		Bid Bond?	Yes	Bid Bond?	Yes	Bid Bond?	Yes	Bid Bond?	Yes
		APPROX	I	T	<u> </u>	UNIT	ı	UNIT		UNIT	T
ITEM #		QTY.	UNIT	UNIT PRICE	COST	PRICE	COST	PRICE	COST	PRICE	COST
	TEMPORARY IRRIGATION SYSTEM										
1	(Including removal)	1	LS	\$9,000.00	\$9,000.00	\$28,000.00	\$28,000.00	\$14,382.83	\$14,382.83	\$16,000.00	\$16,000.00
	BARRICADES, SIGNS, AND TRAFFIC										
2	HANDLING	6	MO	\$500.00	\$3,000.00	\$5,950.00	\$35,700.00	\$532.49	\$3,194.94	\$950.00	\$5,700.00
3	SEEDING FOR EROSION CONTROL	8295	SY	\$3.50	\$29,032.50	\$0.60	\$4,977.00	\$1.28	\$10,617.60	\$7.00	\$58,065.00
4	TREE REMOVAL (4"-12" DIA)	8	EA	\$600.00	\$4,800.00	\$630.00	\$5,040.00	\$83.62	\$668.96	\$1,000.00	\$8,000.00
5	TREE PROTECTION	25	EA	\$300.00	\$7,500.00	\$187.00	\$4,675.00	\$378.32	\$9,458.00	\$200.00	\$5,000.00
6	ROCK BERM	76	LF	\$40.00	\$3,040.00	\$62.00	\$4,712.00	\$35.70	\$2,713.20	\$31.00	\$2,356.00
	STABILIZED CONSTRUCTION										
7	ENTRANCE	4	EA	\$2,400.00	\$9,600.00	\$1,560.00	\$6,240.00	\$1,997.87	\$7,991.48	\$2,500.00	\$10,000.00
	TEMPORARY FENCE, 6 FOOT HIGH,										
	CHAIN LINK (INCLUDES	266		ф1 2 00	# 4 202 00	#17.00	Ф. с. 222 . 00	011.64	Φ4.260.24	#10.00	Ø 6 500 00
	INSTALLATION AND REMOVAL)	366	LF	\$12.00	\$4,392.00	\$17.00	\$6,222.00	\$11.64	\$4,260.24	\$18.00	\$6,588.00
9	PROJECT SIGNS (TYPE 2)	2	EA	\$1,500.00	\$3,000.00	\$842.00	\$1,684.00	\$532.49	\$1,064.98	\$875.00	\$1,750.00
	BIODEG EROSN CONT LOGS (18"										
	DIA), INSTALLATION, MAINTENANCE	4.60		4= 00		**	*1 * • • • • • • • • • • • • • • • • • • •	***	40 - 66 60		*****
10	AND REMOVAL	462	LF	\$7.00	\$3,234.00	\$37.00	\$17,094.00	\$21.14	\$9,766.68	\$10.00	\$4,620.00
	CONTRACTOR TO PREPARE, SUBMIT,										
	IMPLEMENT, AND UPDATE STORM										
	WATER POLLUTION PREVENTION	,		Φ	φ σ . σ . ο ο ο ο	# 2 < 000 00	# 2 (000 00	#2 650 12	#2 650 12	# # 000 00	# 5 000 00
_	PLAN (INCLUDING INSPECTIONS)	1	LS	\$5,500.00	\$5,500.00	\$36,000.00	\$36,000.00	\$3,650.12	\$3,650.12	\$5,000.00	\$5,000.00
	REMOVING EXIST. CONCRETE &	1.7	67.7	Ф100.00	ф1. 7 00.00	#2 (0.00	Φ4 4 3 0 00	A.5.2.6.5	фоолог	#100.00	#1.02 (6)
	ROCK RIPRAP	17	SY	\$100.00	\$1,700.00	\$260.00	\$4,420.00	\$53.25	\$905.25	\$108.00	\$1,836.00
	REMOVING CONC (CURB AND	12		#200.00	#2 (00 00	#0 2 00	#1.104.00	ФОС СО	#210.44	# 50.00	0.00.00
	GUTTER)	12	LF	\$300.00	\$3,600.00	\$92.00	\$1,104.00	\$26.62	\$319.44	\$50.00	\$600.00
14	EXCAVATION (CHANNEL)	834	CY	\$65.00	\$54,210.00	\$88.00	\$73,392.00	\$35.29	\$29,431.86	\$45.00	\$37,530.00

BIDS EXTENDED AND CHECKED

BY: Noemi Avila
DATE: August 22, 2023

BID TABULATION

	ECT: Greenbeit Storm Sewer and Waterin		Cilicits								
15	CONC CURB & GUTTER (TY 1)	12	LF	\$210.00	\$2,520.00	\$210.00	\$2,520.00	\$116.16	\$1,393.92	\$62.00	\$744.00
	RAIL (HANDRAIL)(TY F) (INCLUDES										
16	REMOVAL OF EXISTING)	116	LF	\$225.00	\$26,100.00	\$290.00	\$33,640.00	\$186.49	\$21,632.84	\$240.00	\$27,840.00
17	JCTBOX (COMPL)(PJB) (6FTX6FT)	2	EA	\$14,715.00	\$29,430.00	\$14,000.00	\$28,000.00	\$8,180.36	\$16,360.72	\$10,000.00	\$20,000.00
	INLET (COMPL)(PAZD)(FG) (6FTX6FT-										
18	4FTX4FT)	2	EA	\$13,804.00	\$27,608.00	\$17,000.00	\$34,000.00	\$9,439.61	\$18,879.22	\$11,000.00	\$22,000.00
	WINGWALL (PW-1) (HW=5FT)										
	(INCLUDING REMOVAL OF										
19	EXISTING)	1	EA	\$15,000.00	\$15,000.00	\$35,000.00	\$35,000.00	\$27,508.57	\$27,508.57	\$31,000.00	\$31,000.00
	TRENCH SAFETY SYSTEMS (ALL										
	DEPTHS)(INCLUDING PREPARATION										
	AND SUBMITTAL OF TRENCH										
20	SAFETY PLAN)	1425	LF	\$1.00	\$1,425.00	\$3.00	\$4,275.00	\$2.13	\$3,035.25	\$4.00	\$5,700.00
	RC PIPE (CL III)(48 IN) (ALL DEPTHS)										
	INCLUDING ROCK EXCAVATION,										
21	BEDDING AND BACKFILL	1406	LF	\$401.00	\$563,806.00	\$400.00	\$562,400.00	\$299.36	\$420,900.16	\$400.00	\$562,400.00
22	CONCRETE RIPRAP (6")	65	CY	\$600.00	\$39,000.00	\$970.00	\$63,050.00	\$882.42	\$57,357.30	\$920.00	\$59,800.00
	RIPRAP (STONE COMMON)										
	(GROUT)(18 IN.) (INCLUDING										
23	CHANNEL EXCAVATION)	85	CY	\$225.00	\$19,125.00	\$590.00	\$50,150.00	\$503.02	\$42,756.70	\$280.00	\$23,800.00
	PORTLAND CEMENT CONCRETE										
24	RETARDS	3	EA	\$500.00	\$1,500.00	\$670.00	\$2,010.00	\$195.38	\$586.14	\$3,000.00	\$9,000.00
	TEMPORARY SAFETY FENCE, 6 FOOT,									•	
	CHAIN LINK (INCLUDES										
25	INSTALLATION AND REMOVAL)	66	LF	\$15.00	\$990.00	\$33.00	\$2,178.00	\$26.62	\$1,756.92	\$31.00	\$2,046.00
	REMOVING AND RELOCATING						· ·		· ·		,
	EXISTING 6 FT. WOODEN FENCE										
	(INCLUDING RE-INSTALLATION OF										
26	EXISTING FENCE)	66	LF	\$55.00	\$3,630.00	\$82.00	\$5,412.00	\$42.60	\$2,811.60	\$80.00	\$5,280.00
	/			* **	7-,		,		- /		7-, 00

BIDS EXTENDED AND CHECKED

BY: Noemi Avila
DATE: August 22, 2023

BID TABULATION

CONCRETE SIDEWALK DRAIN (INCLUDES REMOVAL OF EXISTING 27 SIDEWALK) 2 EA \$3,000.00 \$6,600.00 \$13,200.00 \$5,105.90 \$10,211.80 \$8,00	
27 SIDEWALK) 2 EA \$3,000.00 \$6,000.00 \$13,200.00 \$5,105.90 \$10,211.80 \$8,00	· ·
)	· ·
00 DELIGITATIO GOLIG (GIDETYLLI IVO)	
28 REMOVING CONC (SIDEWALKS) 3 SY \$600.00 \$1,800.00 \$430.00 \$1,290.00 \$111.82 \$335.46 \$1,20	00 \$3,600.00
REMOVING CONC (CURB AND	
29 GUTTER) 12 LF \$200.00 \$2,400.00 \$92.00 \$1,104.00 \$106.50 \$1,278.00 \$30	00 \$3,600.00
30 ENCASEMENT PIPE, 30" DIA, STEEL 30 LF \$464.00 \$13,920.00 \$500.00 \$15,000.00 \$369.77 \$11,093.10 \$75	00 \$22,500.00
TRENCH SAFETY SYSTEMS (ALL	
DEPTHS)(INCLUDING PREPARATION	
AND SUBMITTAL OF TRENCH	
	00 \$4,479.00
32 DI FITTINGS 3 TON \$3,000.00 \$9,000.00 \$11,000.00 \$33,000.00 \$9,286.47 \$27,859.41 \$7,00	00 \$21,000.00
33 WET CONNECTIONS 6"X6" 1 EA \$6,500.00 \$6,500.00 \$3,100.00 \$1,866.41 \$1,866.41 \$6,00	96,000.00
34 WET CONNECTIONS 12"X12" 1 EA \$8,000.00 \$8,000.00 \$4,200.00 \$3,225.90 \$3,225.90 \$12,00	00 \$12,000.00
35 WET CONNECTIONS 16"X16" 1 EA \$10,000.00 \$10,000.00 \$9,500.00 \$9,500.00 \$5,593.57 \$5,593.57 \$16,00	00 \$16,000.00
36 REMOVE 6" WL (UNK) 71 LF \$78.00 \$5,538.00 \$64.00 \$4,544.00 \$279.03 \$19,811.13 \$20	00 \$14,200.00
37 REMOVE 12" WL (UNK) 72 LF \$78.00 \$5,616.00 \$120.00 \$8,640.00 \$282.23 \$20,320.56 \$30	00 \$21,600.00
38 REMOVE 16" WL (UNK) 68 LF \$78.00 \$5,304.00 \$130.00 \$8,840.00 \$284.36 \$19,336.48 \$32	00 \$22,100.00
6" DI WATER LINE, BY OPEN CUT	
(ALL DEPTHS) (INCLUDING ROCK	
EXCAVATION, BEDDING AND	
39 BACKFILL) 17 LF \$123.00 \$2,091.00 \$450.00 \$7,650.00 \$174.19 \$2,961.23 \$15	00 \$2,550.00
12" WATER LINE, AWWA C900 DR 18,	
BY OPEN CUT (ALL DEPTHS)	
(INCLUDING ROCK EXCAVATION,	
40 BEDDING AND BACKFILL) 11 LF \$193.00 \$2,123.00 \$340.00 \$3,740.00 \$284.70 \$3,131.70 \$18	90 \$1,980.00
16" DI WATER LINE, BY OPEN CUT	
(ALL DEPTHS) (INCLUDING ROCK	
EXCAVATION, BEDDING AND	
41 BACKFILL) 177 LF \$239.00 \$42,303.00 \$270.00 \$47,790.00 \$245.61 \$43,472.97 \$21	00 \$38,055.00

CITY OF ROUND ROCK Utilities & Environmental Services 3400 Sunrise Road

Round Rock, Texas 78665

BIDS EXTENDED AND CHECKED

BY: Noemi Avila
DATE: August 22, 2023

BID TABULATION

PROJECT: Greenbelt Storm Sewer and Waterline Improvements

	100 WATER I DIE AWWA COOODR 10										
	16" WATER LINE, AWWA C900 DR 18,										
	BY OPEN CUT (ALL DEPTHS)										
1	(INCLUDING ROCK EXCAVATION,										
42	BEDDING AND BACKFILL)	1349	LF	\$200.00	\$269,800.00	\$200.00	\$269,800.00	\$177.10	\$238,907.90	\$200.00	\$269,800.00
	AUTOMATIC COMBINATION										
43	AIR/VACUUM RELEASE VALVE	1	EA	\$8,000.00	\$8,000.00	\$12,000.00	\$12,000.00	\$7,067.16	\$7,067.16	\$11,000.00	\$11,000.00
	6-IN RS GATE VALVE AND										
44	INSTALLATION	1	EA	\$3,000.00	\$3,000.00	\$2,700.00	\$2,700.00	\$1,954.17	\$1,954.17	\$2,500.00	\$2,500.00
	16-IN RS GATE VALVE AND										
45	INSTALLATION	2	EA	\$13,000.00	\$26,000.00	\$14,000.00	\$28,000.00	\$10,113.01	\$20,226.02	\$17,000.00	\$34,000.00
46	FIRE HYDRANTS	1	EA	\$5,900.00	\$5,900.00	\$6,500.00	\$6,500.00	\$4,384.72	\$4,384.72	\$8,400.00	\$8,400.00
	REFLECTORIZED PAVEMENT										
47	MARKERS (TYPE II-B-B)	1	EA	\$100.00	\$100.00	\$36.00	\$36.00	\$532.68	\$532.68	\$25.00	\$25.00
48	CONC CURB & GUTTER (TY 1)	12	LF	\$200.00	\$2,400.00	\$210.00	\$2,520.00	\$90.52	\$1,086.24	\$65.00	\$780.00
49	CONC SIDEWALKS (4")	3	SY	\$400.00	\$1,200.00	\$1,400.00	\$4,200.00	\$266.24	\$798.72	\$435.00	\$1,305.00
50	FLOWABLE BACKFILL	50	CY	\$365.00	\$18,250.00	\$430.00	\$21,500.00	\$186.48	\$9,324.00	\$150.00	\$7,500.00
51	MOBILIZATION	1	LS	\$62,000.00	\$62,000.00	\$60,000.00	\$60,000.00	\$30,749.37	\$30,749.37	\$60,000.00	\$60,000.00
	TOTAL				\$1,390,480.50		\$1,623,735.00		\$1,202,113.71		\$1,533,629.00

	3400 Sunrise Rd., Roun Rock, TX										
LOCAT	TION: 78665	Company	Name:	Royal V	ista Inc.						
BID DA	TE: 8/22/2023			Statement of	Safety? Yes						
				Addendum(s)	?	Addendum(s)?	Addendum(s)	?	Addendum(s)?
				Bid Bond?	Yes						
		APPROX				UNIT		UNIT		UNIT	
ITEM#		QTY.	UNIT	UNIT PRICE	COST	PRICE	COST	PRICE	COST	PRICE	COST
	TEMPORARY IRRIGATION SYSTEM										
1	(Including removal)	1	LS	\$10,000.00	\$10,000.00		\$0.00		\$0.00		\$0.00

Utilities & Environmental Services 3400 Sunrise Road Round Rock, Texas 78665

BIDS EXTENDED AND CHECKED

BY: Noemi Avila
DATE: August 22, 2023

BID TABULATION

	BARRICADES, SIGNS, AND TRAFFIC							
2	HANDLING	6	MO	\$1,500.00	\$9,000.00	\$0.00	\$0.00	\$0.00
3	SEEDING FOR EROSION CONTROL	8295	SY	\$2.95	\$24,470.25	\$0.00	\$0.00	\$0.00
4	TREE REMOVAL (4"-12" DIA)	8	EA	\$500.00	\$4,000.00	\$0.00	\$0.00	\$0.00
5	TREE PROTECTION	25	EA	\$300.00	\$7,500.00	\$0.00	\$0.00	\$0.00
6	ROCK BERM	76	LF	\$45.00	\$3,420.00	\$0.00	\$0.00	\$0.00
	STABILIZED CONSTRUCTION							
7	ENTRANCE	4	EA	\$900.00	\$3,600.00	\$0.00	\$0.00	\$0.00
	CHAIN LINK (INCLUDES							
8	INSTALLATION AND REMOVAL)	366	LF	\$12.00	\$4,392.00	\$0.00	\$0.00	\$0.00
9	PROJECT SIGNS (TYPE 2)	2	EA	\$1,000.00	\$2,000.00	\$0.00	\$0.00	\$0.00
	DIA), INSTALLATION, MAINTENANCE							
10	AND REMOVAL	462	LF	\$16.50	\$7,623.00	\$0.00	\$0.00	\$0.00
11	CONTRACTOR TO PREPARE, SUBMIT, IMPLEMENT, AND UPDATE STORM WATER POLLUTION PREVENTION PLAN (INCLUDING INSPECTIONS) REMOVING EXIST. CONCRETE &	1	LS	\$12,000.00	\$12,000.00	\$0.00	\$0.00	\$0.00
12	ROCK RIPRAP	17	SY	\$100.00	\$1,700.00	\$0.00	\$0.00	\$0.00
	REMOVING CONC (CURB AND							
13	GUTTER)	12	LF	\$12.00	\$144.00	\$0.00	\$0.00	\$0.00
14	EXCAVATION (CHANNEL)	834	CY	\$28.00	\$23,352.00	\$0.00	\$0.00	\$0.00
15	CONC CURB & GUTTER (TY 1)	12	LF	\$120.00	\$1,440.00	\$0.00	\$0.00	\$0.00
16	RAIL (HANDRAIL)(TY F) (INCLUDES REMOVAL OF EXISTING)	116	LF	\$250.00	\$29,000.00	\$0.00	\$0.00	\$0.00
17	JCTBOX (COMPL)(PJB) (6FTX6FT)	2	EA	\$9,500.00	\$19,000.00	\$0.00	\$0.00	\$0.00
18	INLET (COMPL)(PAZD)(FG) (6FTX6FT- 4FTX4FT)	2	EA	\$15,000.00	\$30,000.00	\$0.00	\$0.00	\$0.00

Utilities & Environmental Services 3400 Sunrise Road Round Rock, Texas 78665

BIDS EXTENDED AND CHECKED

BY: Noemi Avila
DATE: August 22, 2023

BID TABULATION

19	WINGWALL (PW-1) (HW=5FT) (INCLUDING REMOVAL OF EXISTING)	1	EA	\$22,000.00	\$22,000.00	\$0.00	\$0.00	\$0.00
	TRENCH SAFETY SYSTEMS (ALL DEPTHS)(INCLUDING PREPARATION AND SUBMITTAL OF TRENCH							
20	SAFETY PLAN)	1425	LF	\$11.00	\$15,675.00	\$0.00	\$0.00	\$0.00
21	RC PIPE (CL III)(48 IN) (ALL DEPTHS) INCLUDING ROCK EXCAVATION, BEDDING AND BACKFILL	1406	LF	\$240.00	\$337,440.00	\$0.00	\$0.00	\$0.00
22	CONCRETE RIPRAP (6")	65	CY	\$400.00	\$26,000.00	\$0.00	\$0.00	\$0.00
22	RIPRAP (STONE COMMON)	0.5	CI	\$400.00	\$20,000.00	φυ.υυ	φυ.υυ	φ0.00
	(GROUT)(18 IN.) (INCLUDING							
23	CHANNEL EXCAVATION)	85	CY	\$250.00	\$21,250.00	\$0.00	\$0.00	\$0.00
24	PORTLAND CEMENT CONCRETE RETARDS	3	EA	\$400.00	\$1,200.00	\$0.00	\$0.00	\$0.00
	TEMPORARY SAFETY FENCE, 6 FOOT, CHAIN LINK (INCLUDES							
25	INSTALLATION AND REMOVAL)	66	LF	\$12.00	\$792.00	\$0.00	\$0.00	\$0.00
	EXISTING 6 FT. WOODEN FENCE (INCLUDING RE-INSTALLATION OF							
26	EXISTING FENCE)	66	LF	\$30.00	\$1,980.00	\$0.00	\$0.00	\$0.00
	CONCRETE SIDEWALK DRAIN (INCLUDES REMOVAL OF EXISTING							
27	SIDEWALK)	2	EA	\$4,500.00	\$9,000.00	\$0.00	\$0.00	\$0.00
28	REMOVING CONC (SIDEWALKS)	3	SY	\$100.00	\$300.00	\$0.00	\$0.00	\$0.00
20	REMOVING CONC (CURB AND							
29	GUTTER)	12	LF	\$120.00	\$1,440.00	\$0.00	\$0.00	\$0.00
30	ENCASEMENT PIPE, 30" DIA, STEEL	30	LF	\$340.00	\$10,200.00	\$0.00	\$0.00	\$0.00

Utilities & Environmental Services

3400 Sunrise Road

Round Rock, Texas 78665

BIDS EXTENDED AND CHECKED

BY: _

Noemi Avila August 22, 2023

BID TABULATION

I KUJ	EC1: Greenbelt Storm Sewer and Waterli	ne improv	ements					
	TRENCH SAFETY SYSTEMS (ALL							
	DEPTHS)(INCLUDING PREPARATION							
	AND SUBMITTAL OF TRENCH							
31	SAFETY PLAN)	1493	LF	\$6.00	\$8,958.00	\$0.00	\$0.00	\$0.00
32	DI FITTINGS	3	TON	\$11,000.00	\$33,000.00	\$0.00	\$0.00	\$0.00
33	WET CONNECTIONS 6"X6"	1	EA	\$3,500.00	\$3,500.00	\$0.00	\$0.00	\$0.00
34	WET CONNECTIONS 12"X12"	1	EA	\$3,000.00	\$3,000.00	\$0.00	\$0.00	\$0.00
35	WET CONNECTIONS 16"X16"	1	EA	\$4,000.00	\$4,000.00	\$0.00	\$0.00	\$0.00
36	REMOVE 6" WL (UNK)	71	LF	\$30.00	\$2,130.00	\$0.00	\$0.00	\$0.00
37	REMOVE 12" WL (UNK)	72	LF	\$40.00	\$2,880.00	\$0.00	\$0.00	\$0.00
38	REMOVE 16" WL (UNK)	68	LF	\$45.00	\$3,060.00	\$0.00	\$0.00	\$0.00
39	6" DI WATER LINE, BY OPEN CUT (ALL DEPTHS) (INCLUDING ROCK EXCAVATION, BEDDING AND BACKFILL)	17	LF	\$80.00	\$1,360.00	\$0.00	\$0.00	\$0.00
40	12" WATER LINE, AWWA C900 DR 18, BY OPEN CUT (ALL DEPTHS) (INCLUDING ROCK EXCAVATION, BEDDING AND BACKFILL)	11	LF	\$155.00	\$1,705.00	\$0.00	\$0.00	\$0.00
41	16" DI WATER LINE, BY OPEN CUT (ALL DEPTHS) (INCLUDING ROCK EXCAVATION, BEDDING AND BACKFILL)	177	LF	\$224.00	\$39,648.00	\$0.00	\$0.00	\$0.00
42	16" WATER LINE, AWWA C900 DR 18, BY OPEN CUT (ALL DEPTHS) (INCLUDING ROCK EXCAVATION, BEDDING AND BACKFILL)	1349	LF	\$204.00	\$275,196.00	\$0.00	\$0.00	\$0.00
	AIR/VACUUM RELEASE VALVE							
43	ASSEMBLY 2" DIA	1	EA	\$11,000.00	\$11,000.00	\$0.00	\$0.00	\$0.00
44	6-IN RS GATE VALVE AND INSTALLATION	1	EA	\$2,600.00	\$2,600.00	\$0.00	\$0.00	\$0.00

Utilities & Environmental Services 3400 Sunrise Road Round Rock, Texas 78665

BIDS EXTENDED AND CHECKED

BY: Noemi Avila

DATE: August 22, 2023

BID TABULATION

	16-IN RS GATE VALVE AND							
45	INSTALLATION	2	EA	\$15,000.00	\$30,000.00	\$0.00	\$0.00	\$0.00
46	FIRE HYDRANTS	1	EA	\$9,500.00	\$9,500.00	\$0.00	\$0.00	\$0.00
	REFLECTORIZED PAVEMENT							
47	MARKERS (TYPE II-B-B)	1	EA	\$15.00	\$15.00	\$0.00	\$0.00	\$0.00
48	CONC CURB & GUTTER (TY 1)	12	LF	\$120.00	\$1,440.00	\$0.00	\$0.00	\$0.00
49	CONC SIDEWALKS (4")	3	SY	\$600.00	\$1,800.00	\$0.00	\$0.00	\$0.00
50	FLOWABLE BACKFILL	50	CY	\$383.00	\$19,150.00	\$0.00	\$0.00	\$0.00
51	MOBILIZATION	1	LS	\$50,000.00	\$50,000.00	\$0.00	\$0.00	\$0.00
TOTAL					\$1,143,860.25	\$0.00	\$0.00	\$0.00